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) 2(m+a) = 2m + ¥ ) 4l o) = 4x -4

) 3(hae) = 3h4L D) 2(2x-3) T 4x -6

3) 4(y>+¢>'=- 4p+44, ) 3x-3) 7 3= -4

4 §(x+) = Cx 4o 4)  §(2p-4) = 10p -S4

s 3 (24#+) = €y +3 () 2(p-g4)= 2p-24 +2r |

c} 2(,;4-41): ZP*Z‘V ¢) —2(><+4) = =2+ —F

Y 4(h+2k) = 4“8\{ ) —3q-2) = -3yt

) c(2xa3) = 12x+13 %) -5(s-) = —§x 45

a)  3(x+29+1) = 3x g 44 ) -4 (2x4q) = —Bx — 4y

0] 20p+a ac) = 2042 42 ) =2 (3p=24 )= —Cp raq
Ererare C

)| 3(x+2)+ T(x+3) 3) 3(7“23}*1(7-*‘3) 5) £ (x+¢) -2(x4a)
=3 +b +Sx +1§ :31+43+4z—23 = Sx430-2x -¢
= ¥ 4+ 2| -'-"'7'1.4—4—\3 T P+ 222

2} 4(1“21)*3(1’*‘1,\) ) 2 (he) =3(1h-k)

:4P+B‘I/+3P+3‘b
:'7P+'H:1,

=2h+ 2k =3h 423k
-h + Sk




